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‘;#1. The given b»family of functions is the general

solution of the differential equation on the -
indicated interval. Find a member of the family
that is a solution of the initial-value problem.

y=Ce +Ce™ (oooo)'
Yeys 0, y@)O y@)lyhf“'
| 7.,(}3 "'(c’

s :j" 5»@5 5‘(0‘5’ ““{z
Ci=Ca)

= wf?x -8y MZ’K +4x°

Name: kﬁj |

#3. Determine whether the given set of functions

is linearly independent on the interval (~,c0).
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#2. The glven family of functions is the general

~solution of the differential equation on the

" indicated interval. Find a member of the family -
that is a solution of the initial-value problem.
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#4. Determlne Whether the glven set‘ f functlons
is 11nearly 1ndependent on the 1ntervalj ‘ .
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#5. Determine whether the given set of functions

;. islinearly independent on the interval (—o0,).
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#6. Verify that the given functions form a
fundamental set of solutions of the differential

“equation on the indicated interval. Then form the

general solution.
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- #7. Verify that the given functions form a
I fundamental set of solutions of the differential

" equation on the indicated interval. Then form the

N general solution.
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#8. Verify that the given functions form a

" fundamental set of solutions of the differential

equation on the indicated interval. Then form the
general solution.
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4.2

#1. The indicated function is a solution of the -
given differential equation (no need to verify). Use
reduction of order to find a second solution.
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#2. The indicated function is a solution of the
given differential equation (no need to verify). Use
reduction of order to find a second solution.

y'+16y=0; y =cos(4x) .
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#3."""The indicated function is a §olution of the
given differential equation (no need to verify). Use
reduction of order to find a second solution.
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#4. The indicated function is a solution of the

given differential equation (no need to verify). Use
reduction of order to find a second solution.
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' #5. The indicated function is a solution of the
given differential equation (no need to verify). Use
reduction of order to find a second solution.
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#1. Find the general solution of the differential
“equation.

4yll +yl —_ 0

m{Mmy) ==
wm =2, M= Y

-¥
ﬂ:CleOXJ-—('ze v

0T
\)v =¢, +Ge ""[

s

#3. Find the general solution of the differential
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#2. Find the general solution of the differential
‘equation. -
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#4. Find the general solution of the differential
|
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#5. Find the general solution of thé differential
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#6. Find the general solution of the differential
-equation.
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#7. Find the general solution of the differential
equation.
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#8. Find the general solution of the differential = | #9. Solve the initial-value problem.
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#10. Solve the initial-value problem.
y”+y'+2y'= 0, y(O) =0, y’(0)=0
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. #11. Solve the initial-value problem.
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[4.4

N #1. Solve the differential equation using the
method of undermined coefficients.
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#2. Solve the differential equation using the
method of undermined coefficients.
y'=10y'+25y =30x+3
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#3. Solve the differential equation using the

~method of undermined coefficients.
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#4. Solve the differential equation using the .
method of undermined coefficients.
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#5. Solve the differential equation using the
‘method of undermined coefficients.

)/\ y" —16)/ =2e*

R A y"/léy:;a
m =l =0
(mri)lm-—1)==

M?’%I M =Y
'4¢ = Cl 5'“‘0( %ng i
bl Lo 22 .
j? = A,e’“f)( (qé o bedf (sowartorsn <Y e e s C& )

50 ﬁp A*Xa .
y =z Ax (‘{@\”‘) ve p) =ire +he” . e
%‘j = YAX (He¥)+e X{W + 4 = 18Axe’" 124
Me e yl-tby =7 ™
y ux
[ l6/Xe u¥ 1 8A L] -—»ﬂé[/?“"f@ =

v (za)e” =@
()LA:;)Z”‘) xe (5 -
ga=2 ), A=ZE TN
Jp= fxe
gererl Sofution
gz tdp

T oux o ¥ b ‘!x(
iy = gd{}i +Cp @?x"’{“" \f K&



" #6. Solve the differential equation using the
method of undermined coefficients.
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#7 Solve the initial-value problem
5y +y = —6x, y(O) 0, ¥'(0)==10
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'L4-6 (we skip 4.5)

Y #1. Solve the differential equation using the
} method of variation of parameters.
Y'+y=secx.
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#2. Solve the differential equation using the
method of variation of parameters.
y'+y=sinx

St gy=o
PRI P2 =€) v £ SN

W ‘:’:ﬁ-i"f:;ﬁﬁb ﬁﬁe

Yy o 4, COSI 4 Y o Si¥x
g L ad

. 233 j W] .
vy o . s

( o W } " s
&
.‘mM “ Nz ifertt
U, ‘:jSMZ wekxe %/§ @j» é&aj(and%
5w +hon(z)

v fessx O
T S

) LO5KSMX

\ .

— CosRSny
Yz'=

ey SNY
{ —Smx  @3F

o Hnx
M&pﬁ,fcwxﬁ“xd‘:é oS dX

: 2,
it dende

9= (%= Son(2)emsk 4 ESMHEIX

|



#3. Solve the differential equation using the
method of variation of parameters.
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#4. Solve the differential equation using the
method of variation of parameters.
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#5. Solve the initial value problem using variation
of paurameters1 } T _ X&m’ s
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I #1. Solve the differential equation. -
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#2. Solve the differential equation.
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#3. Solve the differential equation.
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#4. Solve the differential equation by variation of

parameters.
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#5. Use the substitution x =e' to transform the
given Cauchy-Euler equation to a differential

- equation with constant coefficients, then solve.
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~ #6. Use the substitution x = ¢' to transform the
given Cauchy-Euler equation to a differential

N equation with constant coefficients, then solve.
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#2. Given one solution to the differential equation
(no need to verify), use reduction of order to find a
second solution. - e

A\E #1. leen one solutlon to the differential equation
- (no need to verify), use reduction of order to find a

second solution. ‘ L
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#3. Use a Wronskian to determine if the following
set of functions is linearly independent on the

interval (0,00)

fi(x)=e",  fi(x)=e"
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#5. Solve the differential equation.
V'=2y'-2y=0
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#4. Use a Wronskian to determine if the following
set of functions is linearly independent on the

interval (0,0)
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#6. Solve the differential equation.
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#7. Solve the differential equation.

Y'=5y"+3y'+9y =0

#8. Solve the differential equation by method of
undetermined coefficients (table method).. =
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, #9 Solve the differential equation by method of
undetermined coefficients (table method).
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#10. Solve the differential equation by method of
undetermined coefficients (table method).
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#11. Solve the differential equation by variation of

parameters (Wronskian method).
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#12. Solve the differential equation by variation of
parameters (Wronskian method).
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#13. Solve this Cauchy-Euler form differential

* equation using the Cauchy-Euler procedure for the
homogeneous solution. Then use the variation of
parameters (Wronskian method) to find the
particular solution. F inally, join the solutions to
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~ #14. Solve this Cauchy-Euler form differential
' equation using the Cauchy-Euler procedure for the
homogeneous solution. Then use the variation of
parameters (Wronskian method) to find the |
particular solution. Finally, join the solutions to
produce the general solution.
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